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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
DIx|y 2 [ x| v 3 [ x| v
1.
8 | -12 8| -16 71| -8
2 | -2 -5 | -10 11| 8 ,
5| 1 3| 6 3|12 '
9 | 5 8 | 16 4 | 14
10| 6 9 | 18 6 | 18 3
4.
5.
Y {x]| v S [ x| v 6 [ x| v
6.
-5 | -320 7| -12 9| -9
-3 | -192 -51-10 -6 | -6 ;
3| 192 4| -9 51| 5 '
8 | 512 3| -8 91| 9
9 | 576 1] -6 10 | 10 >
9.
10.
Nlx]|y 8 [ x|y 91 x| v
11.
-7 | -56 919 -10 | -92
2 | -16 5|5 -5 | -47 .
7 | 56 21 2 -4 | -38 '
9 | 72 3|-3 1| -1
10 | 80 9| -9 7 | 61
100 [ x | v W x |y 2 I x| v
-8 | -40 -10 | -46 9| -75
-5 | -25 -4 | -22 -7 | -57
-3 | -15 1 -2 -51 -39
-2 | -10 2 2 -4 | -30
1| -5 9 | 30 3] -21
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C:# Identifying Y Intercept (Tables) Name: Answer Key

Identify the Y intercept for each table. Answers
Dix]|y x| v 3 I x|y 4
1. =
8 | -12 8 | -16 7| -8
2 | 2 5 | -10 1] 8 0
2.
5 | 1 3| 6 3 | 12
9| 5 8 | 16 4 | 14 5
10| 6 9 | 18 6 | 18 3
Y=X+(4x-1) Y=2xX Y=2xX+6
4 0
5 -5
H x| v S I x| v 6) | x| v . 0
5 | -320 7| -12 9 | 9
3| 192 5| -10 6| -6 0
7.
3 | 192 4| -9 5| 5
8 | 512 3| -8 9| 9 0
9 | 576 1] -6 10 | 10 8
Y=8xXx8 Y=X-5 Y =3xX-(Xx2) 5
o _
10, 0
Nlx|y 8 I x|v 91 x| v
11. '6
7 | -56 9] 9 210 | -92
2 | -16 5] 5 5 | -47 6
12.
7 | 56 2| 2 4 | -38
9 | 72 3|3 1| -1
10 | 80 9 | -9 7 | 61
Y Z9xX +(Xx-1) Y=X Y=8xX+(X-2)
100 [ x | v W x |y 2 I x| v
8 | -40 -10 | -46 9| -75
5| -25 4 | -2 7| -57
3| -15 1| -2 5| -39
2| -10 2 | 2 4| 30
1] 5 9 | 30 3| 21
Y =4xX-(Xx-1) Y=4xX-6 Y =8xX +(X +6)
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C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
6 0 0
-2 0 -4 1
-5
2.
Dlx]| v I x| v )| x|vY
-8 | -12 -8 | -16 -7 | -8 3
2 | -2 -5 1 -10 1| 8
5 1 3 6 3|12 4
9 5 8 | 16 4 | 14
10| 6 9 | 18 6 | 18 5,
Y =X+(4%-1) Y =2xX Y=2xX+6
6.
7.
8.
4 x| v 5 x| v 6) | x| v
-5 | -320 -7 | -12 91 -9 9
-3 | -192 -5 1 -10 6| -6
3| 192 -4 | -9 51| 5
8 | 512 -3 | -8 91| 9
9 | 576 -1| -6 10 | 10
Y =8xXx8 Y=X-5 Y =3xX-(Xx2)
Nlx]|y 8 | x|v 1 x | v
-7 | -56 919 -10 | -92
-2 | -16 515 -5 | -47
7 | 56 21 2 -4 | -38
9 | 72 3 |-3 -1 | -11
10 | 80 -9 7 61
Y =9xX+(Xx-1) Y=-X Y=8xX+(X-2)
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[ M ath ] www.CommonCoreSheets.com
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